) concentration is below the lower LOD (< 0.010 pg/ml), but extrapolated, IL-1b concentration is within the LODs (0.010 - 1156 pg/ml)

= |L-1b concentration is below the lower LOD (< 0.010
pg/ml) - missing, IL-1b concentration is below the lower

LOD (< 0.010 pg/ml), but extrapolated, IL-1b

concentration is within the LODs (0.010 - 1156 pg/ml)

1 IL-1b concentration is below the lower LOD (<

0.010 pg/ml) - missing

2 IL-1b concentration is below the lower LOD (<
0.010 pg/ml), but extrapolated

3 IL-1b concentration is within the LODs (0.010 -
1156 pg/ml)

4 IL-1b concentration is above the upper LOD (> 1156
pg/ml), but extrapolated

5 IL-1b concentration is above the upper LOD (> 1156
pg/ml) - missing
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